Before Academic Clemency:

Name: Registrations, Test E.

UID: 100316438

UNOFFICIAL TRANSCRIPT FOR ADVISING PURPOSES ONLY As of: 06/21/16

E-Mail: tregiste@terpmail.umd.edu

Major: Art History

Reenrollment Applicant

Undergraduate Degree Seeking

Fundamental Requirement Satisfied Math: MATH Course; English: ENGL Course

Transcripts received from the following institutions:

Montgomery College

on 06/20/16

** Transfer Credit Information **

** Equivalences **

Montgomery College

1305 INTRO ASTRONOMY В

4.00 ASTR101

DSNL

Acceptable UG Inst. Credits:

4.00 4.00

Applicable UG Inst. Credits:

Total UG Credits Acceptable:

4.00

Total UG Credits Applicable:

4.00

Historic Course Information is listed in the order:

Course, Title, Grade, Credits Attempted, Earned and Quality Points

Fall 2007

MAJOR: ART HISTORY

COLLEGE: ARTS AND HUMANITIES

ARTH201 ART WST WRLD AFTER 1300 A- 3.00 3.00 12.00

ASTR101 GENERAL ASTRO D 4.00 4.00 4.00 ENGL101 INTRO TO WRITING D- 3.00 3.00 3.00 MATH110 ELEM MATH MODELS F 3.00 0.00 0.00

removed.

WMST250 WOMEN, ART&CULTURE D+ 3.00

MATH110: Student retook in Spring 2008. F is currently removed by 0808 D.

ASTR101: Request Repeat Via Transfer

ENGL101: Repeating 1601. D- will be

--- Academic Probation ---

Semester:

Attempted 16.00; Earned 13.00; GPA 1.375

UG Cumulative:

16.00;

13.00;

1.375

WMST250: Consider for Academic

Clemency

Spring 2008

MAJOR: ART HISTORY

COLLEGE: ARTS AND HUMANITIES

ARTH200 ART WST WRLD TO 1300 B- 3.00 3.00 9.00 CLAS170 GREEK&ROMAN MYTH F 3.00 0.00 0.00 HIST157 HIST U S SINC 1865 C 3.00 3.00 6.00 MATH110 *Repeated Course* D 3.00 3.00 3.00 SOCY100 INTRO TO SOCIOLOGY A 3.00 3.00 12.00

--- Academic Probation ---

Semester: UG Cumulative: Attempted 15.00; Earned 12.00; GPA 2.000 1.857

28.00; 25.00;

CLAS170: Student is repeating in 1601. New grade will replace the F.

MATH110: D is earned and counting in the GPA. Since it satisfies the math requirement, student may not wish to remove the earned credits through academic clemency, as it would mean the student would need to take a new course to satisfy the requirement.

Spring 2009

MAJOR: ART HISTORY

ARTH290 ART OF ASIA

COLLEGE: ARTS AND HUMANITIES

B 3.00 3.00 9.00

ARTH324 16TH C ITAL RENAISS ART A 3.00 3.00 12.00
HIST331 MEDIEVAL EUROPE II C 3.00 3.00 6.00
NFSC100 ELEM OF NUTRITION F 3.00 0.00 0.00
SOCY325 SOCY OF GENDER B 3.00 3.00 9.00

F 3.00 0.00 0.00 NFSC100: Student not earning credit for course. Request Academic Clemency

Semester: Attempted 15.00; Earned 12.00; GPA 2.400

UG Cumulative: 43.00; 37.00; 2.046

Spring 2016

MAJOR: ART HISTORY COLLEGE: ARTS AND HUMANITIES

ARTH303 ROMAN ART&ARCHAEOLOGY NG 0.00 0.00 0.00 CLAS170 *Repeated Course* NG 0.00 0.00 0.00 DSHU DANC148 FUND MODERN DANCE NG 0.00 0.00 0.00

ENGL101 *Repeated Course* NG 0.00 0.00 0.00 FSAW HIST110 ANCIENT WORLD NG 0.00 0.00 0.00 DSHU

Semester: Attempted 0.00; Earned 0.00; GPA 0.000 UG Cumulative: 43.00; 37.00; 2.046

UG Cumulative Credit: 41.00 UG Cumulative GPA : 2.046



Academic Clemency Request

UNIVERSITY OF MARYLAND POLICY AND PROCEDURES ON ACADEMIC CLEMENCY

(Approved by the President August 1, 1991, Amended April 21, 2016)

Undergraduate degree-seeking students who have reenrolled at the University of Maryland in pursuit of their initial baccalaureate degree are eligible, after a separation of at least five calendar years from the University (determined by the last day of the last attended semester), for academic clemency. Academic clemency is granted one time only, and subsequent requests will be denied.

Application for academic clemency must be filed with the Office of Undergraduate Studies (or designee) as soon as possible, and before the end of the first semester of the student's return to the University. Clemency will be recorded on the student's record following the completion of the student's first semester of reenrollment. Under clemency, up to 16 attempted credits of D+, D, D-, and F grades from courses previously completed at the University of Maryland will be removed from the calculation of the student's cumulative grade point average (GPA).

Attempted credits and grades for which clemency is granted will:

- 1) remain on the student's transcript;
- 2) not be used to satisfy degree requirements;
- 3) be excluded from the student's cumulative GPA calculation;
- 4) remain included in the calculation of Latin Honors; and
- 5) adhere to the institution's repeat guidelines and be included in the student's repeat limits.

The granting of clemency is contingent upon the student's satisfactory completion of the initial semester of reenrollment, and will be recorded by the university at that time. If the student's first semester of registration upon reenrollment is canceled, or the student withdraws from the semester, clemency will not be granted (and the student will retain the option of filing for clemency in the future).

University ID:

Comments

College: Arts & Humanities		Last Term of Enrollment: Spring 2009		
I wish to use Academic Cler	mency for the courses listed below:			
COURSE NUMBER	COURSE TITLE	CREDITS	TERM	GRADE
WMST250	Women Art & Culture	3	Fall 07	D+
NFSC100	Elem of Nutrition	3	Spring 2009	-F
record. I understand that or otherwise modify this re		cessed by the Offi	ce of the Registra	r, I cannot rescin
Student Signature: Test E Registrations Date: 2/1/2016 Advisor Signature: Dept on College Advisor Date: 2/1/2016 Dean Signature: ASA Dean's level Signature Date: 2/5/2016 Phone Ext: XXXXX				
Advisor Signature:	Deine Lavel Signatur	_ Date:	Phone	Ext: <u>// ////</u>
Dean Signature:	years were signan	C Date: <u> </u>	2010	
Please return completed form to: Office of the Registrar, 1113 Clarence M. Mitchell Jr. Building, College Park, MD 20742				
FOR OFFICE USE ONLY				

ice of the Regestra

After Academic Clemency & Grade Calculate:

Name: Registrations, Test E.

UID: 100316438

UNOFFICIAL TRANSCRIPT FOR ADVISING PURPOSES ONLY As of: 06/21/16

E-Mail: tregiste@terpmail.umd.edu

Major: Art History Reenrollment Applicant

Undergraduate Degree Seeking

Fundamental Requirement Satisfied Math: MATH Course; English: ENGL Course

Transcripts received from the following institutions:

Montgomery College

on 06/20/16

** Transfer Credit Information ** ** Equivalences **

Montgomery College

1305 INTRO ASTRONOMY В 4.00 ASTR101 DSNL

Acceptable UG Inst. Credits: 4.00 Applicable UG Inst. Credits: 4.00

Total UG Credits Acceptable: 4.00 Total UG Credits Applicable: 4.00

Historic Course Information is listed in the order: Course, Title, Grade, Credits Attempted, Earned and Quality Points

Fall 2007

MAJOR: ART HISTORY COLLEGE: ARTS AND HUMANITIES

ARTH201 ART WST WRLD AFTER 1300 A- 3.00 3.00 12.00 ASTR101 GENERAL ASTRO D 4.00 4.00 4.00 D- 3.00 3.00 3.00 ENGL101 INTRO TO WRITING MATH110 ELEM MATH MODELS F 3.00 0.00 0.00 WMST250 WOMEN, ART&CULTURE D+ 3.00 3.00

--- Academic Probation ---

Semester: Attempted 16.00; Earned 13.00; GPA 1.375

UG Cumulative:

16.00; 13.00; 1.375

Spring 2008

MAJOR: ART HISTORY COLLEGE: ARTS AND HUMANITIES

ARTH200 ART WST WRLD TO 1300 B- 3.00 3.00 9.00 CLAS170 GREEK&ROMAN MYTH F 3.00 0.00 0.00 C 3.00 3.00 6.00 HIST157 HIST U S SINC 1865 MATH110 *Repeated Course* D 3.00 3.00 3.00 SOCY100 INTRO TO SOCIOLOGY A 3.00 3.00 12.00

--- Academic Probation ---

Semester: Attempted 15.00; Earned 12.00; GPA 2.000 UG Cumulative: 28.00; 25.00;

Spring 2009

MAJOR: ART HISTORY COLLEGE: ARTS AND HUMANITIES ARTH290 ART OF ASIA B 3.00 3.00 9.00

ARTH324 16TH C ITAL RENAISS ART A 3.00 3.00 12.00 HIST331 MEDIEVAL EUROPE II C 3.00 3.00 6.00 NFSC100 ELEM OF NUTRITION F 3.00 0.00 0.00 SOCY325 SOCY OF GENDER B 3.00 3.00 9.00 Semester: Attempted 15.00; Earned 12.00; GPA 2.400 UG Cumulative: 43.00; 37.00; 2.046

Spring 2016

MAJOR: ART HISTORY COLLEGE: ARTS AND HUMANITIES ARTH303 ROMAN ART&ARCHAEOLOGY A 3.00 3.00 12.00 CLAS170 *Repeated Course* B 3.00 3.00 9.00 DSHU DANC148 FUND MODERN DANCE C 2.00 2.00 4.00 ENGL101 *Repeated Course* 3.00 3.00 9.00 FSAW В HIST110 ANCIENT WORLD Α 3.00 3.00 12.00 DSHU NFSC100 *Academic Clemency - Remo 0.00 0.00 0.00 DSNS WMST250 *Academic Clemency - Remo 0.00 0.00 0.00 DSHU, DVUP

Semester:

Attempted 14.00; Earned 14.00; GPA 3.285

UG Cumulative:

48.00; 48.00; 2.729

UG Cumulative Credit: 52.00 UG Cumulative GPA : 2.729

NFSC100 & WMST250:

- Courses are marked "Academic Clemency-Removed".
- Attempted Credits, Earned Credits and associated Quality Points are also removed from the cumulative totals via Academic Clemency.
- Academic clemency is calculated with the grades of the first semester of reenrollment.